PFEAEEAN—THD (28) ABSE. KE. KEL, E (SE{E LS [Fam6.30-7.00581F) 2008.02 LA

18 |28 (38 (48 [58 |68 |7H |8H |98 [108 [118 [128 [138 |14H |15H |16H |178 |18H |19H |20H |21H [228 (238 [248 |258 |26H |27H |28H |29H Eiy
Bl o5]|-12|-10] 00| 02]|-19|-10]|-12|-15]| 05|-26| 25|-31|-05|-09|-01| -22[-27]|-30[-09]| 10[-05]| 75[-33|-32| 12]|-11[-1.0]-28 -0.8
JK;2| 12| oo| 00| 08| 15| 1.2] 10| 10] 00[-05] 07| 50]|-03[ 05| 08 20 00| 00|-03| 18| 20| 1.7| 54| 00]|-02| 23| 1.1] 00| 1.5 1.0
JK{z|-50(-58| 00| 0o0|-03|-21|-29|-35|-45|-15]|-15]|-17|-1.0|-22|-34|-43| -50|-57(-69|-10[-28[-36|-45|-56|-6.2|-72| 00]-06]|-2.0 -3.1
W= 0 0 8 7 2 0 0 0 o] 21 0 2 6 0 0 0 0 0 0 0 0 0 0 0 0 0] 25 0 0 71
MEAE

R SRRIEhEE, # EE1.2m~15m7ILa— LR ESHIZTHIE (°C)
KB it eh i . JKE5~10cm (B LB EE) IZTRIECC)
KELIEHEEK O E EIFIERE @ GEKE) AS/KEETHDERBMELKEINMENSIZORFEE T (07.07MHEE)
MEIXAO@EBEMNIM6TFEH L FA—RILDZKERIZTEE (F92405/0E1E) LI-RKEMNSFHELE (mm) (07120 5E18)

Edb—T it KB-KEB-KED#ERET ST = 5B
—— KB

7K Az
40.0 10

35.0 5

300 | 10

250 | — 2 -5

- i X

20.0
15.0

10.0

(o) EiX

5.0

0.0

-5.0

-10.0 : -40

EE®RERE@EREREET 1T T 11T T 11 112222222222
HEEHHAEHHEBEEEHBEERAEBREAEERBEH
Bt




FRNEEA —TitDOKRLEE (1)07/01£08/01 2008.02 A&

18 |28 (38 (48 [58 |68 |7H |8H |98 [108 [118 [128 [138 |14H |15H |16H |178 |18H |19H |20H |21H [228 (238 [248 |258 |26H |27H |28H |29H Eiy
05|-12|-10| 00| 02|-19(|(-10|-12|-15| 05]|-26]| 25(-31]|-05|-09|-01]| -22|-27|-30|-09| 10[-05] 75]|-33(|-32]| 12|-11[-1.0]|-2.8 -0.8
121 00| 00| 08] 15| 12| 10] 10| 00[-05] 07| 50|-03] 05| 08| 20 00| 00|-03| 18| 20) 1.7| 54| 00]|-02| 23| 1.1] 00| 1.5 1.0

-50(|-58| 00| 00(f-03(|-21(-29|-35|-45|-15|-15|-17|-10|-22|-34|-43| -50|-57|[-69|-10|-28-36|-45|-56|-62|-72| 00|-0.6|-20 -3.1

0 0 8 7 2 0 0 0 o] 21 0 2 6 0 0 0 0 0 0 0 0 0 0 0 0 0] 25 0 0 71
MEAE

R SRRIEhEE, # EE1.2m~15m7ILa— LR ESHIZTHIE (°C)
KB it eh i . JKE5~10cm (B LB EE) IZTRIECC)
KELIEHEEK O E EIFIERE @ GEKE) AS/KEETHDERBMELKEINMENSIZORFEE T (07.07MHEE)
MEIXAO@EBEMNIM6TFEH L FA—RILDZKERIZTEE (F92405/0E1E) LI-RKEMNSFHELE (mm) (07120 5E18)

Edb—T it KB-KEB-KED#ERET ST = 5R
—— KB

7K AL
40.0 10

35.0 5

300 | 10

250 2 -5

- i X

20.0

15.0

10.0

(o) EiX

5.0

0.0

-5.0

-10.0 : -40

EE®RERE@EREREET 1T T 11T T 11 112222222222
HEEHHAEHHEBEEEHBEERAEBREAEERBEH
Bt







